WW 0DIDg
S ®acad
=
=
S S tn S " S LN
2 )
M > S LN LA > LA
> 915 Q 2450 R 2445 R 1300 | 1240 R 1345 R 1345 A L1340 R {1605
g
()
1435 " 1435 1445 1450 1445 - 1445 1440 1440
m =
N 3 3 S N S % <
N N m ™ N N
1530 1470 1525 1430 N S
S
1325 1375 ™
A S S -
N ~ N N
2505 A\ 1490 % 1480 N 1740 - ~N 1510 § 3510
E m Q 1450 1 1680
- g | §
D N
- 3 R A 490 | 3
3 S
S 25520
=
<Q
= bacad MM
S fum. | Macca | Macwmad
= Wam| lucm|  N° dokym. [lodn. |Aama
Paspad. |bypabyob 2901201 1:68
< [lpaé.
S T. KOHMP. Nuem 1 | luemoB 2
< Ha4.omd.
E H. koHmp.
Ymé.
7 1 KonupoBan ®opmam A3




